Chiffres Romains (F)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMDCLXXX = 2680 MMDCCXIV =
MMMCCVL = MCDXXXVI =
MMCLIV = MCCCXL =
MMDXIII = MMMDCCLXIII =
MMLMXXXVI = MMDLX =

MLMXXXIX = 1989 = 3045

= 1988 = 3222

= 2622 = 1522

= 1363 = 3456

= 3106 = 1684

MathsLibres.com




Chiffres Romains (F) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMDCLXXX

MMMCCVL

MMCLIV

MMDXIII

MMLMXXXVI

MLMXXXIX

MLMXXXVIII

MMDCXXII

MCCCLXIII

MMMCVI

1989

1988

2622

1363

3106

2680

3245

2154

2513

2986

MMDCCXIV

MCDXXXVI

MCCCXL

MMMDCCLXIII

MMDLX

MMMVL

MMMCCXXII

MDXXII

MMMLDVI

MDCLXXXIV

2714

1436

1340

3763

2560

3045

3222

1522

3456

1684
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